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Question	
  1	
  
a.	
  𝐷𝑖𝑓𝑓𝑒𝑟𝑒𝑛𝑡𝑖𝑎𝑡𝑒  𝑥!𝑒!!	
  with	
  respect	
  to	
  x.	
  	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
b.	
  𝐿𝑒𝑡  𝑓 𝑥 = log! tan 2𝑥 .𝐹𝑖𝑛𝑑  𝑓! !

!
.	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  



Question	
  2	
  
a.	
  𝐹𝑖𝑛𝑑  𝑎𝑛  𝑎𝑛𝑡𝑖𝑑𝑒𝑟𝑖𝑣𝑎𝑡𝑖𝑣𝑒  𝑓𝑜𝑟  12xe!!! .	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
b.	
  Solve	
  2log! 𝑥 − 2 + log! 𝑥 − 4 = 1   𝑔𝑖𝑣𝑖𝑛𝑔  𝑒𝑥𝑎𝑐𝑡  𝑎𝑛𝑠𝑤𝑒𝑟𝑠.	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  



Question	
  3	
  
a.	
  𝑆𝑜𝑙𝑣𝑒  𝑓 𝑥 = tan 3𝑥 + !

!
= 0  𝑓𝑜𝑟  𝑥   ∈ 0,   !!

!
	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
b.	
  	
  	
  𝑃𝑙𝑜𝑡  𝑔 𝑥 =   2𝑓 𝑥   𝑓𝑜𝑟  𝑥   ∈ 0,   !!

!
  𝑚𝑎𝑟𝑘𝑖𝑛𝑔  𝑖𝑛  𝑎𝑙𝑙  𝑓𝑒𝑎𝑡𝑢𝑟𝑒𝑠.  	
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Question	
  4	
  
	
  
	
  
a.	
  	
  
	
  
Given	
  that	
  𝑓 𝑥 = !

!!!
− 2, 𝑓𝑖𝑛𝑑  𝑔 𝑥 =   𝑓 !

!
.	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
b.	
  	
  
	
  
Find	
  where	
  g(x)	
  =	
  0.	
  
	
  
	
  
	
   	
  



Question	
  5	
  
	
  
a.	
  	
  
	
  
	
  	
  	
  	
  	
  Thomas	
  drives	
  to	
  school	
  each	
  day	
  and	
  has	
  to	
  suffer	
  through	
  red	
  lights.	
  The	
  
probability	
  that	
  he	
  will	
  be	
  stopped	
  at	
  a	
  certain	
  number	
  of	
  red	
  lights	
  is	
  given	
  in	
  
the	
  discrete	
  table	
  below.	
  	
  
	
  
	
  
Pr(X=x)	
   m	
   0.2	
   0.4	
   0.15	
   k	
  
x	
   0	
   1	
   2	
   3	
   4	
  
	
  
Find	
  k	
  and	
  m	
  given	
  that	
  the	
  expected	
  number	
  of	
  lights	
  he	
  stops	
  at	
  is	
  2.05.	
  	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  
	
  
	
  
b.	
  	
  
	
  
Find	
  the	
  probability	
  that	
  he	
  stops	
  at	
  the	
  number	
  of	
  lights	
  he	
  has	
  to	
  stop	
  at	
  in	
  2	
  
consecutive	
  days	
  adds	
  to	
  3.	
  



Question	
  6	
  
a.	
  	
  
	
  
Brad	
  has	
  accidently	
  dropped	
  his	
  ice	
  cream	
  on	
  the	
  ground	
  in	
  a	
  spherical	
  blob.	
  
Unfortunately,	
  it’s	
  a	
  hot	
  day	
  and	
  the	
  ice	
  cream	
  begins	
  to	
  melt	
  at	
  a	
  rate	
  of	
  
!!
!
  𝑚𝑚!/𝑠,	
  where	
  T	
  is	
  the	
  outside	
  temperature.	
  	
  

	
  
	
  
Assuming	
  that	
  the	
  blob	
  of	
  ice	
  cream	
  remains	
  spherical	
  while	
  melting,	
  find	
  the	
  
rate	
  at	
  which	
  the	
  radius	
  changes	
  in	
  terms	
  of	
  T	
  and	
  r.	
  	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
b.	
  Given	
  that	
  it	
  is	
  25℃	
  on	
  this	
  day,	
  find	
  the	
  rate	
  at	
  which	
  the	
  radius	
  is	
  decreasing	
  
when	
  the	
  volume	
  of	
  the	
  ice	
  cream	
  is	
  32𝜋/3  𝑚𝑚!.  	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  



Question	
  7	
  
	
  

𝑓 𝑥 = kcos  (𝑥), 0 ≤ 𝑥 ≤
𝜋
2 ∪

3𝜋
2 ≤ 𝑥 ≤ 2𝜋

0, 𝑜𝑡ℎ𝑒𝑟𝑤𝑖𝑠𝑒
	
  

	
  
f(x)	
  describes	
  a	
  probability	
  distribution	
  function.	
  	
  
a.	
  Sketch	
  f(x).	
  	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  

	
  
	
  
	
  
	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  
	
  
	
  
b.	
  Prove	
  that	
  k	
  =	
  ½	
  .	
  	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
c.	
  Using	
  information	
  from	
  previous	
  steps	
  or	
  otherwise,	
  find	
  Pr(X<!

!
	
  |	
  X<!!

!
)	
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Question	
  8	
  
	
  
a.	
  	
  
	
  
Given	
  that	
  𝑦 =   −8𝑥 + 𝑎	
  is	
  normal	
  to	
  the	
  equation	
  𝑓 𝑥 = 𝑥 + 𝑏	
  at	
  the	
  point	
  	
  
(c,9),	
  find	
  a,	
  b	
  and	
  c.	
  	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  



Question	
  9	
  –	
  	
  
	
  
An	
  unfair	
  coin	
  has	
  a	
  probability	
  p	
  of	
  getting	
  landing	
  on	
  heads.	
  	
  
	
  
a.	
  	
  
Find	
  the	
  probability	
  that	
  out	
  of	
  3	
  attempts,	
  3	
  tails	
  show	
  up.	
  	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
b.	
  	
  
Find	
  the	
  probability	
  that	
  out	
  of	
  3	
  attempts,	
  exactly	
  2	
  are	
  heads.	
  	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
c.	
  	
  
Find	
  the	
  value	
  of	
  p	
  such	
  that	
  the	
  probability	
  that	
  makes	
  the	
  probability	
  of	
  2	
  
heads	
  out	
  of	
  3	
  coin	
  flips	
  a	
  maximum.	
  	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  



Question	
  10	
  
	
  
If	
  the	
  area	
  shaded	
  below	
  is	
  equal	
  to	
  19,	
  and	
  the	
  graph	
  of	
  f(x)	
  passes	
  though	
  the	
  
point	
  (0,0)	
  find	
  a,	
  b,	
  c	
  and	
  d	
  for	
  𝑓 𝑥 =   𝑎 𝑥! + 5𝑥! + 6𝑥 + 𝑑   where	
  b	
  and	
  c	
  are	
  
x-­‐intercepts	
  of	
  the	
  function	
  f(x).	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  
	
  	
  


